Attitude Tineli

ne

ORBI TER
MET/ GMI' M\VR OPTI ON DAP E/ S/ B |REF ATT/ REMARKS EVENT
146 LVLH TRACK RATE 0.2000|LVLH R= 64.04 |(BIAS - XLV +YW
007/ 07:45: 00 M|TGT = 2 P = 177.59 |DB AT 1.000 P= 91.71 |[SOFBALL: GG
55: 03 BY =5 Y = 359.27 (DB RT 0.020 Y= 1.85 |TEST 5A
OM = 295. 95
023/ 23:24: 00 G EARTH R 343
34: 03 M\VR B9/ AUTQO VERN P 177
HOLD A3/ FREE/ VERN B=-47
147 G\D TRACK RATE 0.2000|LVLH R=214.03 |[-ZTDRS
007/ 11:00: 00 M|TGT = 3 P = 90.00 [DB AT 1.000 P= 61.01 |LPT: TDRS Conm
11: 35 BYy =3 Y= 0.00 |DB RT 0.020 Y= 25.57 |TDRE 11:10-12:02
oM = 210. 00
024/ 02:39: 00 G LAT = 0. OOON
50: 35 M\VR B9/ AUTQO VERN LON = -41.000W
HOLD (sane) =-47 ALT = 19323. 0nm
148 | NRTL TRACK RATE 0. 20001 NRTL R=309.66 [-ZSI
007/ 11:45: 00 M|TGT =5 P = 90.00 (DB AT 1.000 P=298. 97 |SOLCON
58: 28 BY =3 Y= 0.00 |[DB RT 0.020 Y=357.91 |11:59 - 12:48
OM = 102. 00 SPACE 11:16-11:50
024/ 03:24: 00 G SUN R 0 SPACE 12:55-13:25
37:28 M\VR B9/ AUTQO VERN P 90| RA= 305. 300
HOLD A10/ AUTQ VERN B=-47 DEC= -19.490S
149 G\D TRACK RATE 0.2000|LVLH R=332.46 |[-ZTDRS
007/ 12:48: 00 M|TGT = 3 P = 90.00 [DB AT 1.000 P=330. 53 |LPT: TDRS Conm
13: 00: 23 BYy =3 Y= 0.00 |DB RT 0.020 Y= 46. 58 |TDRE 12: 46-13: 37
oM = 310. 00
024/ 04:27:00 G LAT = 0. OOON
39: 23 M\VR B9/ AUTQO VERN LON = -41.000W
HOLD (sane) B=-46 ALT = 19323. 0nm
150 | NRTL TRACK RATE 0. 2000l NRTL R=305.77 |[-ZSI
007/ 13:16: 00 M|TGT =5 P = 90.00 (DB AT 1.000 P=277.52 |SOLCON
28: 30 BY =3 Y= 0.00 |DB RT 0.020 Y=341.37 |13:29 - 14:18
OM = 129. 00 SPACE 12:55-13: 25
024/ 04:55:00 G SUN R 0 SPACE 14: 28-14:52
05: 07: 30 M\VR B9/ AUTQ VERN P 90| RA= 305. 360
HOLD A10/ AUTQ VERN B=-46 DEC= -19.480S
151 G\D TRACK RATE 0.2000|LVLH R=356.80 |[-ZTDRS
007/ 14:18: 00 M|TGT = 3 P = 90.00 [DB AT 1.000 P=282.27 |LPT: TDRS Conm
28: 38 BYy =3 Y= 0.00 |DB RT 0.020 Y=335.03 |TDRE 14:21-15:12
oM = 25.00
024/ 05:57: 00 G LAT = 0. OOON
06: 07: 38 M\VR B9/ AUTQO VERN LON = -41.000W
HOLD (sane) B=-46 ALT = 19323. 0nm
152 LVLH TRACK RATE 0.2000|LVLH R=254.42 |BIAS - YLV +XW
007/ 14:45: 00 M|TGT = 2 P = 90.00 |DB AT 1.000 P= 0.00 |SOLSE: N Pol ar
54: 05 BY =5 Y = 285.58 (DB RT 0.020 Y= 0.00
OM = 180. 00 TR 15:00: 39
024/ 06: 24: 00 G EARTH R 286 37N 15: 04: 45
33: 05 M\VR B9/ AUTQO VERN P 90
HOLD A10/ AUTQ VERN B=-46 RAM TIL 14:43
153 LVLH TRACK RATE 0.0100|LVLH R=254.17 |BIAS -YLV +XW
007/ 15:31: 00 M|TGT = 2 P = 90.00 [DB AT 0.100 P= 0.00 |SOLSE: N Pol ar
25 BVY =5 Y = 285.83 |DB RT 0.020 = 0.00
OM = 180. 00 39N 15:09: 00
024/ 07:10: 00 G EARTH R 286 37N 15:13:15
25 M\VR A10/ AUTQO VERN P 90 TS 15:45:38
HOLD (sane) B=-46 RAM AT 15:56
154 G\D TRACK RATE 0.2000|LVLH R=165.19 |[-ZTDRS
007/ 15:55: 00 M{TGT =3 P = 90.00 |DB AT 1.000 P=110. 33 |[LPT: TDRS Comm
16: 03: 10 BYy =3 Y= 0.00 |DB RT 0.020 Y= 29.17 |TDRE 15: 55-16: 47
oM = 210. 00
024/ 07:34: 00 G LAT = 0. OOON
42:10 M\VR B9/ AUTQO VERN LON = -41.000W
HOLD (sane) B=-46 ALT = 19323. 0nm
155 LVLH TRACK RATE 0.2000|LVLH R=180.00 [BI AS +XLV +ZW
007/ 16:55: 00 M|TGT =2 P = 17.00 |DB AT 1.000 P=287.00 |MEIDEX: Sprite
58: 59 BYy =5 Y= 0.00 |DB RT 0.020 Y= 0.00 |NITE 17:22-17:54
OM = 180. 00
024/ 08: 34: 00 G EARTH R 0 STARNAV: 1
37:59 M\VR B9/ AUTQO VERN P 17 SUN3O 16:55-17:12
HOLD (sane) B=-46
ALL ORBI TER DATA IN 1-1 107 FLT
MEAN OF 1950 AND PYR EULER SEQUENCE




Attitude Tineline

ORBI TER
MET/ GMI' M\VR OPTI ON DAP E/ S/ B |REF ATT/ REMARKS EVENT
156 LVLH TRACK RATE 0.2000|LVLH R=180.00 |[-ZLV +XW
007/ 17:55: 00 M|TGT = 2 P = 90.00 [DB AT 1.000 P= 0.00 |MElIDEX: Dust
18: 01: 05 BY =3 Y= 0.00 |[DB RT 0.020 Y= 0.00
OM = 180. 00 18:09 - 18:17
024/ 09:34: 00 G EARTH R 0 Rone
40: 05 M\VR B9/ AUTQO VERN P 90
HOLD (sane) B=-46
157 G\D TRACK RATE 0.2000|LVLH R=305.06 |[-ZTDRS
007/ 18:20: 00 M|TGT = 3 P = 90.00 [DB AT 1.000 P=196. 39 |LPT: TDRS Conm
30: 58 BYy =3 Y= 0.00 |DB RT 0.020 Y=315. 15 |TDRW 18: 34-19: 27
oM = 60.00
024/09:59: 00 G LAT = 0. OOON
10: 09: 58 M\VR B9/ AUTQO VERN LON = -174. 000W
HOLD (sane) =-45 ALT = 19323. 0nm
ALL ORBI TER DATA IN 1-2 107 FLT

MEAN OF 1950 AND PYR EULER SEQUENCE




